
 
 

Division: Practice Activity 
 

Directions:​ Solve each equation. Write the answer in remainder form.  
For example: 6 ÷ 4 = 1 R2 

If you can’t  
 

1. 9 ÷ 3 =  
2. 8 ÷ 4 = 
3. 7 ÷ 3 = 
4. 5 ÷ 4 = 
5. 10/5 = 
6. 6 ÷ 3 = 
7. 7 ÷ 7 = 
8. 6 ÷ 5 = 
9. 3 ÷ 2 = 
10. 7/5 = 
11.9/4 = 
12. 8 ÷ 2 = 
13. 9 ÷ 6 = 
14. 4 ÷ 3 = 
15. 10 ÷ 3 = 
16. 4/2 =  
17. 6/1 =  
18. 8 ÷ 8 =  
19.  11÷ 8 =  
20. 70 ÷ 7 =  
21. 16/4 =  
22. 28 ÷ 5 =  
23. 0 ÷ 35 =  
24. 101 ÷ 20 = 
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Directions:​ Solve each equation.  

Hint: These should be solved with long division 
 

1. 663 ÷ 51 =  
2. 963 ÷ 54 =  
3. 4410 ÷ 45 =  
4. 8426 ÷ 78 = 
5. 16214 ÷ 121 =  
6. 7667 ÷ 38 =  
7. 1188 ÷ 99 =  
8. 6353 ÷ 94 = 
9. 8373816 ÷ 2398 =  
10.7897634 ÷ 3456 = 
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Answers 

1. 3 
2. 2 
3. 2 R2 
4. 1 R1 
5. 2 
6. 2 
7. 1 
8. 1 R1 
9. 1 R1 
10. 1 R2 
11. 2 R1 
12. 4 
13. 1 R3 
14. 1 R1 
15. 3 R1 
16. 2 
17. 6 
18. 1 
19. 1 R3 
20. 10 
21. 4 
22. 5 R3 
23. 0 
24. 5 R1 
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1. 13 
2. 17 R45 
3. 98 
4. 108 R2 
5. 134 
6. 201 R29 
7. 12 
8. 67 R55 
9. 3492 
10. 2285 R674 
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